OROMS	Release 17.0	Item Sales Analysis Report EZK Shops	SAMPLE	INR0580	01/11/17 12:22:07 Page	1
By Item Clas	s, \$ Sold Asn					
Report code:	TEST THIS IS A TEST					
Sort selecti Last Run Dat FIFO option:	e/Time: 1/11/07 / 12:22:02	Starting account: st: Ending accounting				

OROMS Release 17.0	Item Sales Analysis Report	SBROWN	INR0580	01/11/17 12:22:07 Page	2	
	EZK Shops					

By Item Class, \$ Sold Asn

Item class :

Item	SKU	Description	Sts Whs O,	/H Qty	Cost	Cost Extension	% of Cost	Units Sold	Dollars Sold	% of Dollars O	/O Qty Ret	Units turned	Dollars Returned
			0	0	.0000	.00	.00	0	.00	.00	0	0	.00
BUGGY_WHIP		OBSOLETE SOLDOUT ITEM	1	0	.0000	.00	.00	0	.00	.00	0	0	.00
COCOA	MCHA	FAIR TRADE HOT COCOA MIX MOCHA FLAVOR	1	200	.9500	190.00	5.00	0	.00	.00	0	0	.00
COCOA	MINT	FAIR TRADE HOT COCOA MIX MINT FLAVOR	1	200	.9500	190.00	5.00	0	.00	.00	0	0	.00
DISCOUNT		MEMBERSHIP ITEM	1	0	.0000	.00	.00	0	.00	.00	0	0	.00
GREENTEA		FAIR TRADE GREEN TEA 20 TEABAGS	1	0	.0000	.00	.00	0	.00	.00	100	0	.00
MAGAZINE		SUBSCRIPTION ITEM	1	0	.0000	.00	.00	0	.00	.00	0	0	.00
MUG		16 OZ. HEFTY IVORY-COLORED MUG	1	197	1.0381	204.51	6.00	0	.00	.00	0	0	.00
PRESS		FRENCH PRESS COFFEE MAKER	1	99	12.7800	1265.22	35.00	0	.00	.00	0	0	.00
UTENSILS		WRITING UTENSILS SET	1	0	.0000	.00	.00	0	.00	.00	0	0	.00

OROMS	Release 17.0	Item Sales E:	Analysis H ZK Shops	Report	SBR	OWN INRC)580	01/11/17 3	12:22:07 Pa	age 3		
By Item Clas	s, \$ Sold Asn											
Item class :	FD FOOD											
Item	SKU	Description	Sts Whs	O/H Qty	Cost	Cost Extension	% of Cost	Units Sold	Dollars Sold	% of Dollars O/0	Units D Qty Returned	Dollars Returned
COFFEE		FAIR TRADE ORGANIC ETHIOPIAN COFFEE	1	153	2.7688	423.63	12.00	0	.00	.00	0 0	.00
COFFEECLUB		MEMBERSHIP ITEM	1	0	.0000	.00	.00	0	.00	.00	0 0	.00

OROMS	Release 17.0	Item Sales Analysi EZK Shops		Report	SBR	OWN INRO	580	01/11/17	12:22:07 Pa	.ge 4				
By Item Clas	By Item Class, \$ Sold Asn													
Item class :	GFT GIFTS													
Item	SKU	Description	Sts Wha	s O/H Qty	Cost	Cost Extension	% of Cost	Units Sold	Dollars Sold	% of Dollars O	/O Qty R	Units eturned	Dollars Returned	
BASKET		RUSTIC WOVEN BASKET	1	1 93	1.2500	116.25	3.00	0	.00	.00	0	0	.00	
DAFFODILS		TWO DOZEN CHEERY DAFFODILS	1	1 1	7.5000	7.50	.00	0	.00	.00	0	0	.00	
DAISIES		DRAMATIC GERBERA DAISIES	1	1 96	6.9500	667.20	19.00	0	.00	.00	0	0	.00	
FG_BASKET		GIFT BASKET W/ COFFEE & FRENCH PRESS	<u>:</u>	1 0	.0000	.00	.00	0	.00	.00	0	0	.00	
FLOWERS		FLOWER OF THE MONTH	<u>:</u>	1 0	.0000	.00	.00	0	.00	.00	0	0	.00	
GIFT_BASKET		GIFT BASKET WITH COFFEE AND MUGS	-	1 0	.0000	.00	.00	0	.00	.00	0	0	.00	
ROSES		DOZEN MIXED SPRING ROSES	-	1 2	11.0000	22.00	1.00	0	.00	.00	0	0	.00	
SUNFLOWERS		BRILLIANT SUMMER SUNFLOWERS	-	1 7	5.5671	38.97	1.00	0	.00	.00	8	0	.00	
TULIPS		DOZEN CHEERY MIXED SPRING TULIPS	G 1	1 0	.0000	.00	.00	0	.00	.00	0	0	.00	
VSET_FLOWERS	3	VARIABLE SET: FLOWERS	-	1 0	.0000	.00	.00	0	.00	.00	0	0	.00	

OROMS	Release 17.0	Item Sales Analysis Report	SBROWN	INR0580	01/11/17 12:22:07 Page	5
		EZK Shops				

By Item Class, \$ Sold Asn

Item class : HM HOME OFFICE

Item	SKU	Description	Sts Whs O/	'H Qty	Cost	Cost Extension	% of Cost	Units Sold	Dollars Sold	% of Dollars O,	/O Qty Re	Units eturned	Dollars Returned
BOOKCASE		3-SHELF COLLAPSIBLE BOOKCASE	1	8	12.9500	103.60	3.00	0	.00	.00	0	0	.00
GELS	BLK	BRILLIANT GEL WRITERS BLACK GEL PEN	1	0	.5000	.00	.00	0	.00	.00	100	0	.00
GELS	BLUE	BRILLIANT GEL WRITERS MIDNIGHT BLUE	1	100	.0000	.00	.00	0	.00	.00	100	0	.00
GELS	RED	BRILLIANT GEL WRITERS FIRE ENGINE RED	1	50	.0000	.00	.00	0	.00	.00	50	0	.00
ME123		MECHANICAL PENCIL	1	100	.0000	.00	.00	0	.00	.00	0	0	.00
PEN	BLK	GEL WRITER BLACK PEN	1	336	.3931	132.08	4.00	0	.00	.00	0	0	.00
PEN	BLUE	GEL WRITER BLUE PEN	1	438	.3891	170.43	5.00	0	.00	.00	0	0	.00
PEN	RED	GEL WRITER RED PEN	1	100	.2900	29.00	1.00	0	.00	.00	0	0	.00
PENCIL		PENCIL	1	455	.1000	45.50	1.00	0	.00	.00	0	0	.00
PENCIL		PENCIL	3	0	.1000	.00	.00	0	.00	.00	0	0	.00

Final totals

3605.89 101.00 .00 .00

** END OF REPORT **